3 (Sem-5/CBCS) SKT HC 2

2021

( Held in 2022 )

SANSKRIT

Paper : SKT-HC-5026

( Sanskrit Grammar )

( Honours Core )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

UNIT—I

( General Introduction to Vyikarana, Sivasitra,
Paribhasa, Sandhi )

( Marks : 20)
1. Answer the following : 1x3=3
YN ST forgg—

(a) The JA®R 31 refers to LTI,
( Write Yes or No )

ﬁ{ﬁrmmﬁwwﬁvrf:ﬁ?qﬁl
( 31 7 & 3y Faray )
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(2)

(b) How many 3ds are there in Grammar?

AT e I 3Afe?

(c) THARRY 7 TRH|
( Fill in the blank )
( e 139 )

2. Write a short note on STH. 2
SUEIfaya vt Gferar feopeft @

3. Explain any one of the following : 5
T, Thed ATAT FfET—
I TP &M: ; SISEIT: ; SfeAT Waa |

4. (a) Write an exhaustive note on TV and the

‘STETATT. 10
IO STETATH S U favgar fempofy
el

Or / ST¥aT

(b) Assess the H@ITATHT as a non-Paninian
Grammar.

IMOHEAFCETT  FOAERUE Ao
LREIREY
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UNIT—II
( Natvavidhi and Satvavidhi )

( Marks : 10 )
5. Explain any two of the following Sutras : 2%x2=5
AT BT HE!’*ﬁ: AT T —
RELC T R 1 U .

SCFOARHARSAT |
6. Write the correct forms of any five words from
the following : 1x5=5
FIEHY TR AR T e
T /T 5 L/ ;- Ffg/FEY ;
Frgfer/ B ;o /aft@er gROTHTa /
SR, ;TGRS / e |
UNIT—III
( Declension, Conjugation and Roots )
( Marks : 25 )
7. Answer the following : 1x4=4
STIEATHR STPT forgg—

(a) T/ is the correct form of the
word 379 in the TIHHIGH.

( Choose the correct word )
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() (S)
I TEHGT S I / = | | (b) T in instrumental (in all numbers)

( oA S forg ) FARTEH G RATETT (T 991Y)

|
(b) Which ff% is involved in the form g of | (c) HERS in dative (in all numbers)
the word 1’2 : ‘
[

TR Jgdffriimem (Y 799)
‘B 3fd T=e By st =1 A R

9. Write the forms of either V#9 in @2 in all

(c) The form 3N is connected to the root numbers and all purusas or the forms of V¥ in

3 /3. r ¢¢ in all numbers and all purusas. 5
UChooscitheicorrectivordl) | Gk QH R I R IRUGR E v B e p e s R T
iy =T &9 A/ 3N agT 9 g A | ST 7 2 4T ORI T he e BRI ST
( o S foreg ) | 7Y
|
(d) What form the root ¥ takes in the third || 10.  Write any one of the following : 10
|

person singular number of FTFHR?

UL e ST forag—

(a) ‘Decline g in all fuftfs, 39s and foiss.

vy fody 3 Jwdaf|

PR g o o |

|
|
8. Answer the following : 2x3-6 |

(a) Hfd in genitive (in all numbers)

Aftrre TR (45l =) i‘ﬂ;@?ﬁlwwﬁwﬁﬁuﬁmﬁwﬁg
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(b) Decline 357 in all ffths and all 35s.




(6) | (7)

UNIT—IV (b) Define and illustrate any two of the
( Karakaprakaranam, Samasaprakaranam ) . following concepts : 5x2=10

( Marks : 25 ) B TEUEER - A<gae e

FOMT—
11. Answer the following : 1x3=3
|Z"',3!HQIFI: R ﬁ(‘ﬂ%ﬂﬂqlﬂ: ] 31@5“3“5!?{1“%
STHEAEY ST feEg— ? H
< TEH I EaHT: |

(a) Which 9% is connected to =42
YE-9e 92 1 fufth: gaifomar wafa?

(6) N SR
( Fill in the blank )
( e g )
(c) UEIM is connected to &% / TEHife / qegET
Samasa.

( Choose the correct word )
I |
( o S foreg )
12. Show the difference between ¥ and ToR. 2
afrmen: frmdr gyl

13. (a) Explain any two of the following Sitras :

: 5x2-10
FIEATY YA ATEAT FOTAT—
S AT ; AARISTFT ; Fefa
w5 =l : ;
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